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= £ & 67,579, 831 65, 150, 385 2,429, 446
& =] | B 3,125,779 3,125,779 0
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2 F E 4 Ly 4,531, 624 4,625, 315 A 93,691
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En = %1 PN & 1, 635, 789 1,759, 982 A 124,193
PR 1 & 147,837 129, 945 17, 892
=1 £} * 908, 998 782, 292 126, 706
E f& Pl 712, 505 715, 036 A 2,531
E st % 2,192, 160 2,284,100 A 91,940
£ g & 5,199, 162 4, 330, 070 869, 092
7 7] N B 21, 665 21, 665 0
53 h Bj) |52 & 7,474, 680 7,602, 180 A 127,500
& 7% = 118, 779 142, 584 A 23,805
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H b =2 & = 187,192 104, 885 82, 307
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En R %1 piN & 70, 634 117, 638 A 47,004
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E st & 51, 840 86, 400 A 34,560
53 E7N =1 8 & 40, 312 40, 312 0
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